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59 J97-97 4 38 Y97 & | @41 397 AfHarE & |
I8 J97-97 Qi @US] 4 [99IfSid 8 — &, &, T, 909 & |

GUs & H Y97 &9 13 18 7% Fglascdid (MCQ) 797 ¥97 J&q7 19 T 20

3HeT Ud T TR Teh-Teh 3% & Jo7 & |

GUE & 4 J97 &7 21 T 25 % 37id TY-ITIT (VSA) TR & g1-31 371 & o7

g/

@UE T 4 97 &7 26 T 31 % TY-3T1T (SA) FHR & -l 376 & F97 & |
&UE T 5 97 GEI7 32 & 35 b -39 (LA) YHR & Gier-gier 3iH] & 97 8 |
TUE T 4 J37 G&IT 36 T 38 TF JHU 37T YR TR-FW bl & J97 & /

T YA 37937 4 S7TaRe [dhcq @1-3t 3] & 97 4 1297 17 & |

J97-97 § gHy [aheq 787 13397 791 & | e, @vs & & 2 Yol 4, @U8 T & 2 oA
4, @vs g %2 yo 7 d97 @98 F & 3 JI 4 aRke® laehcq & JIae 137 a1

g/

g1 AT & T AT FEY | T HeTE = — 22 g, Itz s=rer

7 15T 71 81 |
depaict H 39T dfdd 2 |

«usg

3G @V H FElaHedid Fv7 (MCQ) &, 1577 3% J97 1 3% H1 & |

1.

If¢ 9898 x? — 8kx + 4k I Th [Ah, A Y[Ah I AT &, A k H AW
3
(a) -2 (b) 2

1 1

(c) E (d) - E

x-318, fogatl (-2, 3) 3R (6, —7) =l S Il WEE H & FIE H
fomfSa s 2, I8 =

(a) 1:3 (b)

(c) 7:3 (d)

30/2/2 ~~~~ Page 2



e

General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(ii1)
(iv)
(v)
(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.
In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and

questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case-study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E.

. : 22 : .
Draw neat diagrams wherever required. Take © = - wherever required, if not
stated.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1.

If one zero of the polynomial x% — 8kx + 4k be twice the other, then the
value of k is :
(a) -2 b 2

(c) E (d) - E

The ratio in which the x-axis divides the line segment joining the points
(—=2,3)and (6, -7) is :

(a) 1:3 (b)

() 7:3 (d)

30/2/2 ~~~~ Page 3 P.T.O.



3. UH 39 AU, TEeh S A’ 7, 1 90T IEIA &A% FAT BT ?

(a) 3nd? ®b) 2nd?
1 9 3 2
(c) B nd (d) 1 nd

4. TS 14 cm I TH g9 & FI@E, NEHRI H4 B0 90° 7, hI F A HI
LTS T 8 2
(a) 22cm (b) 44 cm
(¢) 88cm (d 1lcm

5. AfCx=0-3, TfleRtor x2— 0-9k = 0 1 Th A &, aI k S B :
(a) 1 (b) 10
¢ 01 (d 100

6. T TE ABAH, AB||PQ| I AB=6cm, PQ=2cm IR OB=3cm 7, d
OP@W@W:

B

Q

o2
c
-

=

§
o
© @)

P

(a) 9cm (b) Scm
(c) 4 cm (d 1lcm

30/2/2 ~~~~ Page 4
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What is the total surface area of a solid hemisphere of diameter ‘d’ ?

(a) 3nd? ®b) 2nd?
1 9 3 2
(c) B nd (d) 1 nd

What is the length of the arc of the sector of a circle with radius 14 cm
and of central angle 90° ?

(a) 22cm (b) 44 cm
(c) 88 cm (d) 11 cm

If x =0-3, is a root of the equation x2— 0-9k = 0, then k is equal to :
(a 1 (b) 10
(c) 01 (d 100

In the given figure, AB | PQ. If AB = 6 cm, PQ = 2 cm and OB = 3 cm,

then the length of OP is :
B
o Q
%
: §
oy
o 9)
P
A
(a) 9 cm (b) 3 cm
(¢) 4 cm (d) 1 cm



7. ?ilﬁ ‘P 3R ‘q’ JTehd H@qlq % 3R ‘p"v’i’@l’[‘q’w NUS %, a ‘P 3R ‘g’ shl HCF
AT B 2
(a)  pq b) p
(c) q (d) p+q

8. ITAABC~APQRH, /A=32°3N /R=65°%, Al /BH AT ? :
(a)  32° (b)  65°
(c) 83° (d) 97°

9. UHRW I x = a AR y = b g1 &g W@ arh &9 7
(a) R EHIR B 8
(b)  forg (b, a) W Uf=dt Bl 8
(¢)  HUt BIdl &
d) g (a, b) W Afd=sdt Bt 3

10. 5+%=1awﬁ€mﬁaﬁﬁaﬁﬁ§aw@$w%:

a

() ab (b)  Zab
1
(c) Zab (d 2ab
11. T 9 &l Th SR IO W, GHI I 3Tehi 1 OAGBA 12 T 8H hl
TRl 3 :
1 2
(a) 5 (b) 5
4 5
(c) 5 (d) 5

12. Elﬁ‘oc’?:ﬁ'{‘ﬁ’,a'gqﬁ ax? —5x + ¢ %W%?ﬁ'{ a+pB=aopf=10 7, @

(a) a=5,c=% (b) a=1,c=g
(c) a:g,c:l (d) a:%,c:5

30/2/2 ~~~~ Page 6



10.

11.

12.

30/2/2

If ‘p’ and ‘q’ are natural numbers and ‘p’ is the multiple of ‘q’, then what is
the HCF of ‘p’ and ‘q’ ?

(a)  pq (b) p

() q (d p+q

If A ABC ~ A PQR with £ A = 32° and £ R = 65°, then the measure of
ZBis:

(a) 32° (b)  65°

(c) 83° d 97

The pair of equations x = a and y = b graphically represents lines which
are :

(a) parallel

(b)  intersecting at (b, a)

(c) coincident

(d) intersecting at (a, b)

The area of the triangle formed by the line X+ Y _ 1 with the coordinate
a
axesis:
() ab (b)  Zab
1
(c) 1 ab (d 2ab

In a single throw of two dice, the probability of getting 12 as a product of
two numbers obtained is :

(a) (b)

(c) (d)

Ok O+
O|lot N

If ‘> and ‘P’ are the zeroes of the polynomial ax? — 5x + ¢ and
o+ B =ap =10, then :

(a) a=5,c=% (b) a=1,c=g
(c) a=g,c=1 (d) a=%,c=5

~SN~~ Page 7 P.T.O.



14.

15.

16.

T 9 H 100 T & TS99 T 18 100 deh <hl @A Hfehd 8 | 30 I H € T
T ATGTHAT eIl ST & | 39 O W Teh Ui o1 H&AT AHfehd B shl TR

1 B ?

1 3
(a) 2—0 (b) %
1
(C) % (d) m

@ T 3mpfd W, DE | BC | af¢ AD = 2 51, DB = AE = 3 3% 3R
EC=X3T=FI'$[§,FﬁXWII'F[_&ﬁ"'IT:

(a) 2 (b) 3
9
(C) 5 (d) 5

Ifg ARt 9 3x —y + 8 = 0 3R 6x — ry + 16 = 0 g F&iUa @ Ut
g, a0 1 9 BT :

1 1
(a) - E (b) E
(c) -2 d 2

@H@ﬁﬁﬂ%ﬁﬂé6cm?ﬁﬁ% |3H§§§W7:20a.m.3ﬁ'{7:55a.m.%
= S w7 q g, 98 B

35Y 35Y

()  35° d  70°

30/2/2 ~~~~ Page 8



13. A bag contains 100 cards numbered 1 to 100. A card is drawn at random
from the bag. What is the probability that the number on the card is a
perfect cube ?

1 3
(a) % (b) %

1 7
(C) % (d) m

14. In the given figure, DE | BC. If AD = 2 units, DB = AE = 3 units and

EC = x units, then the value of x is :

(a) 2 (b)

3

9

5 d i

(c) (d) 2
15. If the pair of equations 3x —y + 8 = 0 and 6x — ry + 16 = 0 represent

coincident lines, then the value of ‘r’ is :

1 1
(a) - 2 (b) 5
(c) -2 d 2

16. The hour-hand of a clock is 6 cm long. The angle swept by it between
7:20 a.m. and 7:55 a.m. is :

35Y 35Y
(c) 35° d  70°

30/2/2 ~~~~ Page 9 P.T.O.
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17. @ 7E 3Tpfd H, T g9 & R U =Sqds PQRS ST 2 | JET PA + CS ST 7 ¢
P

(a) QR (b) PR
¢ PS® @ PQ%
18. 3R o 3R p, fgamd 898 p(x) = x2 — ax — b % YH &, A o + B2 K AW
BT
(a) a2-2b (b) a2+2b
(¢ b%-2a (d b%+2a

J97 &A1 19 N 20 3UHedT Tq g% giad 97 & 3N I F97 T 1 HF
8 1 3 %7 137 7T & 78 T% 1 SYFHUT (A) T TR HI 7% (R) FRT b 137 7T
& | §7 I¥1 & @& IR A7 137 T BIST (a), (b), (c) 3K (d) F & G 7T |
(a) AR (A) 3R T (R) QHI H&l 3 AR Tk (R), AR (A) hl Hal
ST T 3 |
(b)  AfTHA (A) 3R Th (R) THI Fal &, g b (R), 3MWHIT (A) 1 &
ST T H = |
(c)  AfTH (A) Tl B, T @b (R) Tid 8 |
(d)  AfYHA (A) Tord B, T db (R) T& 7 |

19. 3U%IT (A): ¥FIGE p(x) = x2 + 3x + 3 % G ARA(Ih JH 3 |
7% (R) : T fgaTd 9gug o 31fieh-H-31f¥e g1 arEdfaesh Y 8l §hd @ |
20. HHHYT(A): Il %z O I g W M@l foig P § q TRIA@E PA 3R PB
i< 78 7, a1 =gy AOBP <hia &1 |
7% (R) : foreht @ fog & foreflt 9o X &ff=h 8 @ woxi3@nedi & = =
10 Tl forgatl ol e ot tEes g oy W SAdia i
1 Y BNl B |

30/2/2 ~~~~ Page 10




17. In the given figure, the quadrilateral PQRS circumscribes a circle. Here
PA + CS is equal to :

(a) QR (b) PR
(c) PS d PQ

18. If o and B are the zeroes of the quadratic polynomial p(x) = x2 — ax — b,
then the value of a2 + B2 is :

(a) a2 —2b (b) a2 + 2b

(© Db®-2a d Db’+2a
Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from
the codes (a), (b), (c¢) and (d) as given below.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : The polynomial p(x) = x2 + 8x + 3 has two real zeroes.
Reason (R): A quadratic polynomial can have at most two real zeroes.
20. Assertion (A) : If PA and PB are tangents drawn from an external point
P to a circle with centre O, then the quadrilateral AOBP
is cyclic.
Reason (R): The angle between two tangents drawn from an external
point to a circle is supplementary to the angle subtended

by the line segment joining the points of contact at the
centre.

30/2/2 ~a~~ Page 11 P.T.O.
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LCLERC)
$F GUE ¥ 37l TY-ITHIT (VSA) TR & 97 &8, 5779 J&F & 2 375 & |

21. (%) TH 9Hdd T W G HHR 1 1, R 1 S8 1 /3 T el
2 | g3 1 S A Hifre |

AT

(@) off % wh fag @, S fHR & ue-foig 8 30 m H g W B, HEAR *
fRREX 1 37 HI0 30° 2 | HAR 1 ST A1 KT |

22. < ME IThfd H, 99 1 g OB | g A ¥ 38 99 W AB i AC Toei @l
it 18 8 | Ife ~ BAC =65°%, @ ~ BOC <hl 99 F1d shifeT |

23. (%) m%4cot245°-sec260°+sin260°+p:%%,zﬁpwmsnasﬁﬁn |

AT

(@) e cos A + cos2 A =13, dl sin2 A + sin4 A ST A9 I shIfIT |

24. s 6 fag (- 2, 3), (8, 3) 3R (6, 7) Th HHHIVT Y o Y & |

25. fag Shifvu foh 4" eft ft 3 (0) | TmTed €T BT 8, SR n T ehd €A 7 |

30/2/2 ~~~~ Page 12
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SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. (a) The length of the shadow of a tower on the plane ground is /3
times the height of the tower. Find the angle of elevation of

the sun.
OR

(b)  The angle of elevation of the top of a tower from a point on the
ground which is 30 m away from the foot of the tower, is 30°. Find
the height of the tower.

22. In the given figure, O is the centre of the circle. AB and AC are tangents
drawn to the circle from point A. If £ BAC = 65°, then find the measure of

2 BOC.

23. (a) If4 cot?45° — sec2 60° + sin2 60° + p= %, then find the value of p.

OR
(b) If cos A + cos? A = 1, then find the value of sin? A + sin? A.

24, Show that the points (-2, 3), (8, 3) and (6, 7) are the vertices of a
right-angled triangle.

25. Prove that 4" can never end with digit 0, where n is a natural number.

30/2/2 ~a~~ Page 13 P.T.O.
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WU
3T GV § TTY-ITHIT (SA) FHR & 97 &8, 79 J3% & 3 375 & |
26. fog I :

sin 0 1+cos6

+ - = 2 cosec 0
1+cosH sin 0

27. (%) 3afe s gteo fHem

2x + 3y =17 dAT 2ax + (a + b)y =28
& AUNfd &9 & 3 g &I, df ‘@’ 3T b’ AF Fd I |

AT

(@) 3l 217x + 131y = 913 3R 131x + 217y = 827 &, @ x 3R y & AH
3T i o foTu gefientor g hifve |

28. (%) wEASAT 18180 3R 7575 H1 AU PHEed Oy g LCM A
Hifsre | 371 g TreEneTt %1 HCF +ft 3a shifsre |

AT

(@) = gfear 6, 12 X 18 el & Iata W aordi 2 | Jfe 3 =i =wfeat
T A1 6 a.m. WS &, A 3Heh GGG o A1 Toh 1Y e Sl ?

29. <& TE MHfd #, g9 H Hg O I QPR I » fig P W wElmr 7 | frg
$IT fh ~ QAP + £ APR = 90°.

A
7

30/2/2 ~~~~ Page 14
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SECTION C

This section comprises of short answer (SA) type questions of 3 marks each.

26. Prove that:

sin 0 1+cosO

+ - = 2 cosec 0
1+cos6 sin 0

27. (a) Ifthe system of linear equations

2x + 3y =7 and 2ax + (a + b)y =28
have infinite number of solutions, then find the values of ‘@’
and ‘b’.
OR

(b) If 217x + 131y = 913 and
131x + 217y = 827,

then solve the equations for the values of x and y.

28. (a) Find by prime factorisation the LCM of the numbers 18180 and
7575. Also, find the HCF of the two numbers.

OR

(b)  Three bells ring at intervals of 6, 12 and 18 minutes. If all the

three bells rang at 6 a.m., when will they ring together again ?

29. In the given figure, O is the centre of the circle and QPR is a tangent to it
at P. Prove that £ QAP + £ APR = 90°.

A
7

30/2/2 ~a~~ Page 15 P.T.O.
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30.

31.

32.

33.

30/2/2

8 cm

LCLER>)
59 @S H 5-3T0T (LA) IJHR & J97 8, 578 Jcd% & 5 37% & |

afg f9g Q0, 1), fgatl P(5, — 3) 31 R(x, 6) & THEWM gt W &1, @ x & AH
1 AT |

ffd 9 3 9 o & o uh TElt SIR A | 98 TS Tk SARd 9 S R S
@ﬂﬁ%ﬁﬁ"ﬁ%IMIQdﬁﬂWIQSCmﬁ?ﬁQECGcm%ﬁET%Wﬁ
fe@men T 2 | ®EIfRd W 1 &A% A4 HifVT |

(n = 3-14 1 FAT HIfQ)

2,

6 cm

Teh B A Al o foh T Tgs W T T ¥ oA dTell B i T&AT T

3 fie <hi 100 7aferi # foral 8 iR =8 9 & 72 arfees § wfya femam

T 3 | F=faRaa ATl 1 |1 9 "IsIeh J1d i |

ST hl
&

0-10

10 - 20

20-30

30 - 40

40 - 50

50 - 60

60 - 70

70 — 80

FRERAT
(STaferr)

7

14

13

12

20

11

15

8

(%) TH BT ABC I Yo AB 3R BC q1 HIfeIshl AD T 3= Bt
PQR 1 U a3l PQ 3R QR d91 #Ifedeht PM o HHMEUR 7 |

sy fo5 AABC~APQRZ |

AT

(@) @E IgYs ABCD i 411 CD & wed-fog M & Th {@1 BM @< 71§
S ferhul AC &1 g L W 3R 51618 718 411 AD &l fog E W hred! 2 |
fag i 7% EL = 2BL.

N N N

Page 16



If Q(0, 1) is equidistant from P(5, — 3) and R(x, 6), find the values of x.

Reeti prepares a Rakhi for her brother Ronit. The Rakhi consists of a
rectangle of length 8 cm and breadth 6 cm inscribed in a circle as shown
in the figure. Find the area of the shaded region. (Use © = 3:14)

6 cm

8 cm

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

32.

33.

A student noted the number of cars passing through a spot on a road for
100 periods each of 3 minutes and summarised it in the table given

below. Find the mean and median of the following data.

Numberof | g 10]10 20 |20 - 30|30 - 4040 — 50| 50 — 60| 60 — 70| 70 - 80
Frquency 7 14 13 12 20 11 15 8
(periods)

(a) Sides AB and BC and median AD of a triangle ABC are
respectively proportional to sides PQ and QR and median PM of
A PQR. Show that A ABC ~ A PQR.

OR

(b)  Through the mid-point M of the side CD of a parallelogram ABCD,
the line BM is drawn intersecting AC in L. and AD (produced) in E.
Prove that EL = 2BL.

30/2/2 ~a~~ Page 17 P.T.O.
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34.

35.

1+4+7+10+.... + x=287

(%) U HER 6 Ue-fog ¥ 30 m St gEA HHR o TR 1 3731 HI0 60°
8 3N gl AR % dre-foig & wgell #HR o RIGR 1 3731 10 30° 2 |
S HMI % &= o1 gl 3R ugell WK s SHarg o [ I |

T

(@) 100 m 39 T e’ & IR T T =Afh fear <t faodia fesmett & s
30° 3R 45° % TGTHA IV ITeAl G BRI ! ¢@AT 8 | I BRI & S
61 gt 7 HRAY | (V3 = 1-73 =1 T Hifom)

Qs &

34 GUE H 3 YA IeqTT SR F97 & 577 I & 4 37 & |

36.

ThIOT AT - 1

FHgel-snymia g feet ot Ui foreor ugfa @t wefifa ot @ s og=e
TJHRUT o [T el 1 ITAN w8 | Tafien oamed TR W, HeeHitsa
9TS ASHIST ohl TGRIA i oh 1T I ITTAN 1 ITANT TohAT ST Fhall & |
3EH % 1000 TAfies R Areafter foamer™l W ueh o feham T o SR

3Teh ITE fSIaH e 9, Ik YR W 31 afichd Tehall TR T |

30/2/2 ~~~~ Page 18
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34. Solve the equation for x :
1+4+7+10+ ... +x=287

35. (a) The angle of elevation of the top of a tower 30 m high from the foot
of another tower in the same plane is 60° and the angle of
elevation of the top of the second tower from the foot of the first
tower is 30°. Find the distance between the two towers and also
the height of the other tower.

OR
(b)  From the top of a tower 100 m high, a man observes two cars on
the opposite sides of the tower with angles of depression 30° and
45° respectively. Find the distance between the two cars.

(Use 3 =1-73)
SECTION E

This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. Computer-based learning (CBL) refers to any teaching methodology that
makes use of computers for information transmission. At an elementary
school level, computer applications can be used to display multimedia
lesson plans. A survey was done on 1000 elementary and secondary

schools of Assam and they were classified by the number of computers
they had.

30/2/2 ~a~~ Page 19 P.T.O.



L e 101 371 388
FLEU hl FE& _ _ _ _

QI 6l | 1-10 [11-20 | 21-50 |51 —100 .
ERINRIEIRIE 250 200 290 180 80

U foemer 1 Agesdn =IE fohan T | Al
(i) Fgosdl @ Ty U foeame™ ® 100 & AT el 8H i TRk

Frd I |
(i) (%) IgesdA @A U U fqEred ¥ 50 AT 50 § FH HRL BH
EIRETINICIEA IS I
areran
(i) (@) Jgeeda 99 Ty U foeme™ H 20 € 31U el 7 8 6l
TTRIhe HTd I |
(iii)  FTgesa =¥A FRU T foeme™ # 10 A1 10 § 0 SR FH hl ATRIHT
F1d T |

ThI0T YA - 2

37. U foene™ o aii¥e fog@ W Yauehi 3 394 Ta8 gHgR faenfdn = Tehe
TEhR o Fro-any wyfa-fag ot < = | v Wi g fowmg w8 smefa
T SO T 9T $EeRT IR ABCD ®WH Al 3R § famar ar | faew
AT o @™ T 20 Ui o Tt 7 |

3 cm 3 cm
A L7 B
3T h IMUR W, FAfAREd Tl & I AT :
(i)  =quf ODCO ST &% FI1 B ?
(i) A AOB I &IhA FTd HIIT |
(iii) (%) ABCD BWIfhd W I FHeat T 1 $d T F1 3 ?
Tt
(iii) (@) =9 CD I oA«ls F1 8 ?
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Number of 1-10 |11-20 | 21-50 |51 100 | 101 2nd
Computers more
Number of 250 200 290 180 80
Schools

37.

30/2/2

(1)

(i1)

(i1)

(ii)

One school is chosen at random. Then :

Find the probability that the school chosen at random has more

than 100 computers.

(a) Find the probability that the school chosen at random has
50 or fewer computers.

OR

(b)  Find the probability that the school chosen at random has
no more than 20 computers.

Find the probability that the school chosen at random has 10 or
less than 10 computers.

Case Study - 2

In an annual day function of a school, the organizers wanted to give a
cash prize along with a memento to their best students. Each memento is
made as shown in the figure and its base ABCD is shown from the front

side. The rate of silver plating is ¥ 20 per cm*“.

3 cm

A

2

3 cm

B

Based on the above, answer the following questions :

(1)
(i1)

(iii)

(iii)

What is the area of the quadrant ODCO ?

Find the area of A AOB.

(a) What is the total cost of silver plating the shaded part
ABCD ?

OR

(b)  What is the length of arc CD ?

N N N
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ThI0T YA - 3

38. Th %l GHM H HIHl 3 T % HU H FH Il 8 | Th HY SRR 3
fSrgep =aM® 7 cm 9 FEE 14 cm B I GEU HY YA ITHR H1 3
S =@ 21 em @ |

STIE & YR W, F=fefiad gt & 3T e
(i)  SHThR Y o YR T &THA JTd T |

() () ST U I &Har =41 8 2
AT
(i) (W) TR HY S &HAT T T |

(ili) SRR %Y H Igh THIF SABA FIT B ?
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Case Study -3

38. In a coffee shop, coffee is served in two types of cups. One is cylindrical in
shape with diameter 7 cm and height 14 cm and the other is

hemispherical with diameter 21 cm.

Based on the above, answer the following questions :

(1) Find the area of the base of the cylindrical cup.

(ii) (a) What is the capacity of the hemispherical cup ?

OR

(ii)) (b)  Find the capacity of the cylindrical cup.

(iii) What is the curved surface area of the cylindrical cup ?
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination, 2023
MATHEMATICS PAPER CODE 30/2/2

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers.

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks should
be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given
in the Marking Scheme. If there is any variation, the same should be zero after deliberation
and discussion. The remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual evaluators.

Evaluators will mark (V') wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.
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9 In Q1-020, if a candidate attempts the guestion more than once (without canceling the previous
attempt), marks shall be awarded for the first attempt only and the other answer scored out
with a note “Extra Question”.

10 In Q21-038, if a student has attempted an extra question, answer of the question deserving
more marks should be retained and the other answer scored out with a note “Extra Question”.

11 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

12 A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in
Question Paper) has to be used. Please do not hesitate to award full marks if the answer
deserves it.

13 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books per
day in other subjects (Details are given in Spot Guidelines). This is in view of the reduced
syllabus and number of questions in question paper.

14 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e  Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e \Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

15 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0) Marks.

16 Any unassessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

17 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

18 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

19 The candidates are entitled to obtain photocopy of the Answer Book on request on payment

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
MATHEMATICS (Subject Code-041)
(PAPER CODE: 30/2/2)

Q. No. EXPECTED OUTCOMES/VALUE POINTS Marks
SECTION A
Questions no. 1 to 18 are multiple choice questions (MCQs) and questions
number 19 and 20 are Assertion-Reason based questions of 1 mark each.
1. If one zero of the polynomial x2 — 3kx + 4k be twice the other, then the
value of k is :
(a) -2 by 2
1 1
) = ..
c 2 (d) 2
Sol. | (b)2 1
2. The ratio in which the x-axis divides the line segment joining the points
(~2,3)and (6,-7)is:
(a) 1:3 (b) 3:7
(0 7:3 (d 1:2
Sol. |(b)3:7 1
3.
What is the total surface area of a solid hemisphere of diameter ‘d’ ?
(a) 8nd ) 2rd®
(c) 2 n d? (d) L nd®
2 4
Sol. (d) %ndz 1
4.
What is the length of the arc of the sector of a circle with radius 14 ¢m
and of central angle 90° ?
(a) 22cm (b) 44cm
(c) 88cm (d 11lcm
Sol. |(a)22cm 1
3
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If x =03, is a root of the equation x%—0-9k =0, then k is equal to :

(a) 1 (b) 10
(c) 0-1 (d) 100
Sol. | (c)0.1
6.
In the given figure, AB | PQ. If AB = 6 cm, PQ = 2 cm and OB = 3 cm,
then the length of OP is B
o Q
S
1]
§
g N
©
P
A
(a) 9cm (b) 3em
(c) 4 em (d lem
Sol. | (d)1cm
7.
If ‘p’ and ‘q’ are natural numbers and ‘p’ is the multiple of ‘q’, then what is
the HCF of ‘p’ and ‘q’ ?
(a) pq (b) p
(e) q (d p+q
Sol. |(0)q
8.
If A ABC ~ A PQR with £ A = 32° and 2 R = 65°, then the measure of
ZBis:
(a) 32° (b  65°
(c) 83° (d 97°
Sol. | (c)83°
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The pair of equations x = a and y = b graphically represents lines which
are :

{a)  parallel

(b)  intersecting at (b, a)

(¢)  coincident

(d)  intersecting at (a, b)

Sol. | (d) intersecting at (a, b)
10.
The area of the triangle formed by the line E + )E = 1 with the coordinate
axes is :
(a) ab (b) -l-ab
2
1 .
(e) Zab (d) 2ab
Sol. | () % ab
11. : 3 e :
In a single throw of two dice, the probability of getting 12 as a product of
two numbers obtained is :
1 2
(a) - (b -
Yoy "3
4 5
(e) — (d) —
9 9
Sol. 1
a —
OF
12. If ‘¢’ and ‘P’ are the zeroes of the polynomial ax? — 5x + ¢ and
o+ =afy =10, then:
(a) a=5,c=% (b) a=1,c=g
(c) a=%.c=l (d) a=%,c=5
Sol. 1
(da= > c=5
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13.

A bag contains 100 cards numbered 1 to 100. A card is drawn at random
from the bag. What is the probability that the number on the card is a
perfect cube ?

1 3
(a) — (b) e
20 50
1 7
(c) — (d) —
25 100
Sol. 1
(©) 2
14.
In the given figure, DE | BC. If AD = 2 units, DB = AE = 3 units and
EC = x units, then the value of x is :
(a) 2 (b) 3
9
(c) 5 (d) -
Sol. 2
(@
15.
If the pair of equations 3x —y + 8 = 0 and 6x — ry + 16 = 0 represent
coincident lines, then the value of 'r' is :
1 1
(a) - (b) =
® 2 2
(c) -2 (d 2
Sol. (d)2
16.
The hour-hand of a clock is 6 ecm long. The angle swept by it between
7:20 a.m. and 7:55 a.m. is :
(35Y 35Y°
(@) 'T] (b) |-2-|
(c) 35° d) 70°
Sol. 35\
®) (%)
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17.

In the given figure, the quadrilateral PQRS circumscribes a circle. Here
PA + CSis equal to :

(a) QR (b) PR
(¢ PS (d PQ
Sol. | (c)PS
18.
If « and B are the zeroes of the quadratic polynomial p(x) = x2 — ax — b,
then the value of o + 02 is:
(a) a%2-2b (b) a?+2b
(© b’-2a @ b*+2a
Sol. | (b)a%+2b
Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled as Assertion (A) and the
other is labelled as Reason (R). Select the correct answer to these questions from
the codes (a), (b), (c) and (d) as given below.
(a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(¢c)  Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
19.
Assertion (A) : The polynomial p(x) = x” + 3x + 3 has two real zeroes.
Reason (R): A quadratic polynomial can have at most two real zeroes.
Sol. | (d) Assertion (A) is false, but Reason (R) is true.
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20.

Assertion (A) : If PA and PB are tangents drawn from an external point
P to a circle with centre O, then the quadrilateral AOBP
is cyclic.

Reason (R):  The angle between two tangents drawn from an external
point to a circle is supplementary to the angle subtended

by the line segment joining the points of contact at the
centre.

Sol.

(a) Both Assertion (A) and Reason (R) are true, and Reason (R) is the correct
explanation of the Assertion (A).

SECTION B
This section comprises of Very Short Answer (VSA) type questions of 2
marks each.

21(a).

The length of the shadow of a tower on the plane ground is V3

times the height of the tower. Find the angle of elevation of the
sun.

Sol.

B

e
C A

Let AB be the tower of height ‘h’.
.. AC=+3 h

In A ABC, tan 6 =

__h
J3h

= tan 0 =

sl Bl%

=0=30°

Yo

Yo

OR

21(b).

The angle of elevation of the top of a tower from a point on the
ground which is 30 m away from the foot of the tower, is 30°. Find
the height of the tower.
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Sol. &

(™
A 3om [

Height of tower = AB

In A ABC, tan 30° = ﬁ
30
~ A= -1003

J3

= Height of Tower is 10 J3 m

22.
In the given figure, O is the centre of the circle. AB and AC are tangents

drawn to the circle from point A. If ©~ BAC = 65°, then find the measure of
~ BOC.

Sol. | ~BAC + £ BOC =180°
=/ BOC = 180°-65°
=/ BOC = 115°

23(a).
If 4 cot?45° — sec2 60° + sin2 60° + p= %, then find the value of p.

Sol- | 4 cot2 45° — sec2 60° + sin? 60° + p = >

4
2

= 412 -2+ () +p=

OR
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23(b).

If cos A + cos? A = 1, then find the value of sin? A + sin? A.

Sol.

cosA+c032A:1:>cosA:1—c032A:sin2A
- sin? A +sin* A = cos A + cos? A (~ sin A = cos A)
=1

24.

Show that the points (=2, 3), (8, 3) and (6, 7) are the vertices of a

right-angled triangle.

Sol.

Let the given points be A (-2, 3), B (8, 3) and C (6, 7)
Then, AB =10, BC = /4 +16 = /20,

AC = /64 +16 = /80

- AB2=BC? + AC?
- the given points are the vertices of a right angled triangle.

Yo

Yo

25.

Prove that 4" can never end with digit 0, where n is a natural number.

Sol.

If the number 4", for any n, were to end with digit zero, it would be divisible
by 5. So, the prime factorization of 4" should contain the prime factor 5.

But in 4N = (2 x 2)" = 22N, the only prime factor is 2.
.. By fundamental theorem of arithmetic, there is no natural number n for

which 4" ends with digit zero.

SECTION C
This section comprises of Short Answer (SA) type questions of 3 marks
each.

26.

Prove that :
sin O " 1+cosO _
1+cos0 sin O

Sol.

sin 2 0+ (1 + cos 6)2
(1 +cos 0)sin 6
_1+1+2cosH
- (1 +cos 0)sin 6
2 (1 + cos 0)
- (1 +cos 0)sin 6

LHS =

= _2 =2 cosec O = RHS
sin 0

Yo

Yo
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27(a).

If the system of linear equations
2x+3y=7 and 2ax +(a+b)y =28

have infinite number of solutions, then find the values of ‘a

and ‘b’.

Sol.

system has infinite number of solutions
2 3 7

" 24 a+b 28
1 1

> -=-=a=4

a 4
anda+b=12=Db=8

OR

27(b).

If 217x + 131y = 913 and

131x + 217y = 827,

then solve the equations for the values of x and y.

Sol.

217 x + 131y =913 .
Adding 348 (x +y) = 1740
131x + 217y =827

X+y=5

Subtracting, 86 (x —y) = 86

x-y=1

=>Xx=3,y=2

%+ 14

28(a).

Find by prime factorisation the LCM of the numbers 18180 and
7575. Also, find the HCF of the two numbers.

Sol.

18180 = 22 x 32 x 5 x 101

7575 = 3 x 52 x 101

LCM =22 x 32 x 52 x 101 = 90900
HCE =3 x 5 x 101 = 1515

Yo
Yo

OR

28(b).

Three bells ring at intervals of 6, 12 and 18 minutes. If all the

three bells rang at 6 a.m., when will they ring together again ?
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Sol.

LCM of 6, 12, 18 = 36

So, all the three bells ring together after 36 minutes at 6 : 36 AM

29.

In the given figure, O is the centre of the circle and QPR is a tangent to it
at P. Prove that ~ QAP + 2 APR = 90°.

A
¢/

Q 5 R

Sol.

OA=0P

-~ InAOAP, L OPA=2Z0AP .. (i)
= £ OPA + Z APR =90°

= £ OAP + Z APR =90°

= / QAP+ / APR =90°

Using (i)

30.

If Q(0, 1) is equidistant from P(5, — 3) and R(x, 6), find the values of x.

Sol.

PQ = QR = PQ? = QR?
(5-0)2+(-3-1)2=(x—-0)2 + (6 - 1)2
= 25+ 16 =x2 + 25

=x2=16
=>X=4,x=-4

%+ 14

31.

Reeti prepares a Rakhi for her brother Ronit. The Rakhi consists of a
rectangle of length 8 cm and breadth 6 em inscribed in a circle ags shown
in the figure. Find the area of the shaded region. (Use n = 3-14)

46 cm
%7

S om
7 LIS,

Sol.

Diagonal of rectangle = \/62 +8%2=10

10 _:

.. Radius of circle r = ~

Yo
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Areaofcircle=3-14 x5x%x5

=785 ”
Area of rectangle =6 x 8 =48 Yo
Area of shaded region = 78-5 — 48
=30-5 cm? 2
~Area of shaded region is 30.5 cm?
SECTIOND
This section comprises of Long Answer (LA) type questions of 5 marks
each.
32.
A student noted the number of cars passing through a spot on a road for
100 periods each of 3 minutes and summarised it in the table given
below. Find the mean and median of the following data.
. | |
\“"’::f °f 10 -10(10 - 20 |20 - 30|30 — 40}40 - 50|50 — 60|60 — 70| 70 — 80
Frequency | , 14 13 12 20 11 15 8
(periods)
Sol.
Number of X, f, xf, of
cars
0-10 5 7 35 7
10-20 15 14 210 21
20-30 25 13 325 34
30-40 35 12 420 46
40-50 45 20 900 66
50-60 55 11 605 77
60-70 65 15 975 92
70 -80 75 8 600 100
Total 100 4070
Correct table 2
Mean = =Xifi = 4070 _ - 1
2 fi 100
Median class : 40 — 50 Ya
Median = 40 + 22— %0 10=42 1%
20
13
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33(a).

Sides AB and BC and median AD of a triangle ABC are

respectively proportional to sides PQ and QR and median PM of
A PQR. Show that A ABC ~ A PQR.

Sol.

3 D C Q ™M R,
In A ABC and A PQR
AB _ BC _ AD
PQ QR PM
AB 2BD _AD
PQ 2QM PM
(-~ D is midpoint of BC and M is midpoint of QR)

AB _BD _AD _ \ ABD-~APQOM
PQ QM PM

= /ZB=2Q—(i)

Now, In A ABC and A PQR
AB _ BC .
70 OR (given)
ZB=/Q from (i)
-. AABC ~ A PQR

1 for
correct
figure

Yo

Y2

OR

33(D).

Through the mid-point M of the side CD of a parallelogram ABCD,
the line BM is drawn intersecting AC in L and AD (produced) in E.
Prove that EL = 2BL.

MS_X_ Mathematics_041 30/2/2_2022-23
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Sol.

£ ol

In A BMC and A EMD
MC = MD
Z CMB =~2EMD
/ MBC = / MED
.. ABMC = AEMD
= BC =DE
But AD = BC
-. AD=DE
= AE=2BC
A AEL ~A CBL
. EL_AE
""BL BC

EL 2BC

_ =
BL BC
EL

= — =
BL

=EL=2BL

1 for
correct
figure

Yo

Yo

34. Solve the equation for x :

1+4+7+10+ ... +x =287

Sol. 1+4+7+10+ ... +x =287
a=1,d=3Lastterm=x
=1+(n-1)3=x
3n—2:x:>n:X3L2—(i)

S, =287

%[1+x]:287:> (X+2)6(X+1) = 28

X2 +3X+2=1722
X2 +3x—1720=0
= (x +43) (x -40)=0
= X =-43,40
X#—43

o X =40

7 —using (i)

Yo

Yo
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35(a).

The angle of elevation of the top of a tower 30 m high from the foot
of another tower in the same plane is 60° and the angle of
elevation of the top of the second tower from the foot of the first
tower is 30°. Find the distance between the two towers and also
the height of the other tower.

Sol.

(a)PQ = height of 15t tower = 30 m

AB = height of 2"d tower = h (say)
Z PAQ =60°, £ APB = 30°
Let AP =X

® S0

» 166° h.
) 4 P

A
30 30
InA APQ,tan60°= — = x= —

Q X V3

=104/3

.. Distance between two towers = 10 J§ m

h 1 h
InA APB,tan30°= — =»> —— = ——

X 3 1043
=h=10

~. Height of 2"d tower = 10 m

1 for
correct
figure

1Y%

Yo

1%

Yo

OR
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35(b).

From the top of a tower 100 m high, a man observes two cars on
the opposite sides of the tower with angles of depression 30° and
45° respectively. Find the distance between the two -cars.
(Use V3 =173)

MS_X_ Mathematics_041 30/2/2_2022-23

Sol. 1 for
correct
figure

AB = Height of tower = 100 m
P and Q are position of cars
Z XBP = 2 APB = 30°
ZYBQ =/ AQB =45°
In A ABQ,
tan45°:£:>1:@ 1%

A X
= x=100
In A ABP,
tan 30° = AB

AP
i - @ —y =100 J3 1%
v3 oy

=100(1-73) =173
Distance between cars = x +y
=100+ 173 =273 1
.. Distance between cars is 273 m.
17



SECTION E
This section comprises of 3 case-study based questions of 4 marks each.
36.
Case Study - 1
Computer-based learning (CBL) refers to any teaching methodology that
makes use of computers for information transmission. At an elementary
school level, computer applications can be used to display multimedia
lesson plans. A survey was done on 1000 elementary and secondary
schools of Assam and they were classified by the number of computers
they had.
[ Number of 1-10 |[11-20 | 21-50 |51-100 |10} and
Computers | more
ArGIpSE o 250 200 290 180 80
Schools
One school is chosen at random. Then :
(i) Find the probability that the school chosen at random has more
than 100 computers,
(i) (a) Find the probability that the school chosen at random has
50 or fewer computers,
OR
i) (b) Find the probability that the school chosen at random has
no more than 20 computers.
(iii) Find the probability that the school chosen at random has 10 or
less than 10 computers,
Sol. . 80
0] P (more than 100 computers) = 5 or 0-08
@i)(a) 50 or fewer computers = 250 + 200 + 290 = 740
. - 740
Required probability = or0-74
1000
OR
(i) (b) No more than 20 computers = 250 + 200 = 450
. - 450
Required probability = or 0-45
1000
250
(iii) P (10 or less than 10 computer) = 1000 or 0-25
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37.

Case Study - 2

In an annual day function of a school, the organizers wanted to give a
cash prize along with a memento to their best students. Each memento is
made as shown in the figure and its base ABCD is shown from the front
side. The rate of silver plating is ¥ 20 per cm?.

Based on the above, answer the following questions :
(1) What is the area of the quadrant ODCO ?
(ii)  Find the area of A AOB.

(iii) (a) What is the total cost of silver plating the shaded part
ABCD ?

OR
(iii) (b)  What is the length of arc CD ?

Sol.

22 90 77

(i)Area of sector ODCO = - X7TXTX 360 > or 38-5 Yy + 1
=~ Area of sector ODCO is % or 38:5 cm?
(ii)ar(AAOB):%x10x10:50 1
- ar (A AOB) is 50 cm?
(iii) (a) Required cost = (50 — 38-5) x 20 1
= 230 1
=~ required cost is X 230.
OR
90 22
(iii) (b) LengthofarcCD = —— x 2 X — X 7 1
360 7 1
=11
=~ Length of arc CD is 11 cm.
19
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38.

Case Study - 3

In a coffee shop, coffee is served in two types of cups. One is cylindrical &

shape with diameter 7 em and height 14 em and the other |

)~

hemispherical with diameter 21 em.

Based on the above, answer the following questions :

(1) Find the area of the base of the cylindrical cup.
(i) (a) What is the capacity of the hemispherical cup ?
OR
(ii) (b) Find the capacity of the cylindrical cup.
(ii1) What is the curved surface area of the cylindrical cup ?
Sol. . o 22 7 7 77
(i) Area of base of the cylindrical cup = - X > X PPy or 38.5

77
=~ Area of base of the cylindrical cup is B} or 38.5 cm?
21 21 21

.. : . : _2,22 021 21 21
(ii) (a) Capacity of hemispherical cup—3 X . X > X > X >

4851
= T or 2425.5

. . . . 4851
=~ Capacity of hemispherical cup is - cm? or 2425.5 cm?®
OR
(ii) (b) Capacity of cylindrical cup = % x (7)? x 14
=539
~. Capacity of cylindrical cup is 539 cm?®

(iii) External Curved surface area of cylindrical cup =2 x % X g x14 =308
- External Curved surface area of cylindrical cup is 308 cm?
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